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To support weight:

⇒ need high pressure

⇒ need high temperature

⇒ will loose energy

⇒ need energy source:
  - Gravitational contraction
  - Nuclear fusion
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Ultimately,
Can something else thanCan something else than
thermal pressure balancethermal pressure balance
gravity?gravity?



Evolutionary
tracks:
what happens
depends on
mass

Pols et al., 1995,
MNRAS, 274, 964



Open issues
have to form planets in 
~ few Myrs
1) how did the gas disk
    disperse?

2) how are planetesimals
    made? Are dust grains
    sufciently sticky?

3) what makes chrondrules?

4) How do planetesimals  
    survive collisions?

5) What is Jupiter's role in 
    the fate of other planets?

6) Do giant planets only form
    outside frost lines? If so, 
    how to explain the extra-solar
    hot Jupiters?

7).... 
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Gravity & tides
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Virial Theorem

Ideal gas
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Photon propagation

Black body

Hydrostatic eq.

Radiative transfer

Timescales

Hydrogen fusion

Hydrogen atom
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